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SH04E THE T oNE S
1A% (B O4EERE (E)
AT | meR | ReEmEE | gunR NS ReH RAEMEER | HuEH
CNGV - CHGVH - CHGTHZ 28 FA LIS D B I &

500L K i
LPG 811, 457 2,047 0 2,601, 305 5.155 0
PG 17,741 0 0 320, 270 148 0
LG 108, 672 0 0 576, 315 3 0
AG 2, 400 0 0 12, 438 0 0
LT 1,682 807 0 9. 905 3. 647 0
LNGV 0 0 0 0 0 0
DL 0 0 0 0
(LDH 0 0 0 0
CHGGY 0 0 0 80 0 0
ZDith 0 0 0 269 0 0
ait 1,001, 952 2,854 0 3, 520, 582 8,953 0
HMBERAL %) 93.8 65. 7 0.0
SE#HAE 1,004, 806 3,529, 535
HMBERAL %) 93.7

500L A £ 1000L 5
LPG 0 0 0 0
PG 243 0 , 883 0
LG 224 361 1,973 1. 715
LT 0 0 0 0
DL 0 0
(LDH 0 0
CHGGV 0 0 0 0
ZDith 40 0 160 0
EREKAE 507 361 5,016 1,715
HMATFERA L %) 98.0 120.9
[WME %5 & &t 868 6, 731
HMBERAL %) 0.2

1000LEL E
LPG 913 473 62 2,190 1,538 179
PG 60 0 0 84 0 0
LG 193 212 0 837 654 4
LT 37 10 5 233 35 46
DL 0 1
(LDH 0 2
CHGGV 0 0 0 0 0 0
ZDith 46 22 0 86 42 0
EREKAE 1,249 mni 67 3,430 2,272 229
HMATFERA L %) 15.1 108.8 16.3
L{E % &5t 2,033 5, 931
AETERAL (%) 0.2
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S04 TAE HEBRREE RN
1A% (@) MEERE (B)
7L Zeft | REEWEE | #uR ISP R2H RAENEE | #iER
CNGVER 2= FA DB R M
EAESEE 0 0 0 0 0 0
HETER AL (%) 0.0 0.0 0.0 0.0
CNGV{E % & &t 0 0
AMBERAL %) 0.0
CHEVHZ 25 F DB R &
EhlEH AR 0 0 42 0 0 0
HBIERAL (%) 0.9 0.0 0.0 0.0
CHEVHE # & &t 0 42
AMBERAL %) 0.0
CHGTHER =R DHIE &
EAESEE 0 0 0 0 0 0
HBIEEAL (%) 0.0 0.0 0.0 0.0
CHETHfE % & &t 0 0
AETERAL %) 0.0




